AT

AUTOGRIP MACHINERY

TR

ChZE O] 48 M = 11

B ERKEER | hEL
NBUKEIER - E2RIE -

- NEEZAFILRSHEER - £ REEHEE -
- KEBHAALS A - AHEXR - HERINE -
- MRS ML ENA - ZEINAERE -
A N AT SENEM -

* THEmES

&7 : PAT.NO.M491534(Taiwan)

APBd : PAT.NO.ZL201420584274.5(China)

AR

SEEE R EE=E R -R S Bk meEREND StiRE
cm? cm? min”(rp.m.) MPa(kgf/cm?) . lit./min
TR-539 724 67.] 15 8000 4.0(40) 0.01 6.8 3
TR-646 105 93.9 15 7000 4.0(40) 0.015 9.5 3
TR-853 135.3 125 20 6300 4.0(40) 0.032 .5 3.9
TR-1075 170 155 25 4500 4.0(40) 0.065 18 42
K~F
Q1 P L2 6~L1
6~V2 H — d
\ 3] =] : .
N1\ T I Bl
o3| o | oo[N2[ N3] )€ o o o
= &0 5 _ /8
SIS ] {}
|
L]
E/: (Y
e
5 4~w2,/ —
B (.
3 ® ] J 1
G2 K G1
e 9]
(R RIS AR

= C : F cl &2 J L L1 L2 Ol 02 Q3 R ) T Ul
==
(h7) (min.) (min.) (GEIRNGE)) (g7)
143 125 125 110 52 19 4 97 133 42 39 42 40 103

TR-539 107 15 0 34 6-M10x20 M8x60 12 M4bxlb 25 12 M44xil5 8 25 925 65 26 RCl/4 525 55 53 M5x8 90 M5x9 RCl/2 5
TR-646 128 165 147 147 130 65 15 0 34 19 3.5 97 135 12-MI0x20 M8x60 1.5 Mbbx2 25 13 MbHB2X15 8 25 50 46 95 5 32 RC3/8 50 50 16 59 62 615 M5x9 98 M5x9 RCl/2 5
TR-853 145 185 165 170 130 70 20 0 47 27 45 1185 160 12-MI0x20 M8x75 12 MB60x2 30 15 Mb8xl5 8 30 55 53 14 8 34 RC3/8 56 50 1288 65 67 70 MS5xI0 10 M6xIl RCI/2 5
TR-1075 170 212 190 190 160 95 25 0 52 27 45 1295 181 12-MI0Ox20 MIOx1.5 16 M8bx2 35 15 M84x2 9 33 80 75 1235 12 40 RCIl/2 81 50 164 83 86 95 M5xI0 155 M6x11 RC3/4 5

WWW.AUTOGRIP-MACHINERY.COM AUTOGRRIP


https://www.autogrip-machinery.com/proimages/products/Rotary-Cylinders/Thru-Hole/TR/TR_img.jpg

